
'Comma' not needed here

Instead of 'normal,' use 
'ordinary'

Use small m in the middle of 
a sentence

A comma cannot join two 
complete sentences. Use a 
full stop or a semicolon 
instead.

Use capital A for the name of 
a person (proper noun)

This should be a 
full stop

Instead of 'big' you can 
mention the colour or pattern 
on the flag

SP: starry 

Use simple past tense (wore)

He wore circular glasses that 
sat at the tip of his nose. 
(Better construction)

Inside his house was ...
Use 'an' before 
vowels (a,e,i,o,u)

The sentence is still 
continuing, so use small t 
here

Revise as 'A long time ago, 
he had a happy, loving 
family. Tragically, they were 
killed by an evil wizard, the 
most evil alive.' 

What is 'here' referring to?

Rewrite: From the top of the 
tree house he could see 
miles and miles away. The 
entire city lay spread before 
his eyes.

You have switched to 
present tense in the last two 
lines. Keep using one tense 
throughout the writing. 

1. Divide your writing into a few 
paragraphs. 
2. Use some figures of speech to 
make writing interesting (the tree 
house touched the sky, the old 
man was wrinkled like a piece of 
paper, birds rested on the tree 
branches and orchestrated a 
song to the beat of the wind, etc. 
3. The conclusion could be 
improved: Oh, how he longed 
time to go back so that he could 
once again see his tree house 
filled with laughter and 
happiness. 

** Good description of 
the man using plenty of 
adjectives

Try to vary your sentence 
openers by using a range of 
word types. For example: 
 
Tall and towering, the tree ... 
In the distance, he could 
see... 
Nothing was the same as 
before ... 
How he wished he could 
see... 
Wearing a dark blue starry 
robe, the man wandered ...
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